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yo years ago, my neighbor .
"a. Had got married

~ b. Got married

' ¢. Has been married

“d. Both B&C
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have an appointment at 8, so I'm not sure I'm going to
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A. Might
B. Can
C. will
D. Am going to
¢ The answer is A
i 12)1 an interesting book when someone on the door

3. Read/knocked

b. Was reading/knocked

c. Was reading / was knocking
d. Read/was knocking

The answer is B

'clﬁ-l.....a;'..'.ﬂj,. WL ® i (8 gt as e }a;.u.;a'}:; o

13)When you me yesterday, | the dinner .
A. Called/was having

B. Were calling/had

C. Were calling/was having

D. Called/had

‘ " wer is A

s sy daled J 45 S LI 45 pimss JoaiW ke

to study.
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Collocations A5

_____your grades,

| ==

a long holiday.
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control of the office while I'm away.

a. Take
h. Carry
c. Catch L5
d. Bring

The answer is A

Aoyl Ohygadl 6 Cyg L Slbgoyall Gl pioa lsthi ggSiBSn g

tips for effective frl'eét_i_h_gé A

a2
b

1) Afollow up to the meeting is necessary
A. True
B. false
The answer is A
2) Some meetings could be sudden

| A. True
.'i -.'J.' 1 ‘-‘o—‘\‘l.t—ﬁB.'J Fél-\se P
~ TheanswerisB
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"¢ You have just heard

news that annual saleg figures
'rf'gughuy down. You present the figures as aCCUrmZ]yar
- possible. 3
a. a/all ]
it p. some/all
c. somelevery
d. a/some

the answer is b : !

2 isthere____ noise in your town?
a. Many

b. Much

c. Alotof

d. B&C 2

Theanswerisd el
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L Poople gommunicate(A) o ahout(H) noch othur aerogs(C) the aloba(D)
The answor is Bwith) :

. "Iiﬂ[l[l‘l aammunieativa(A) more with(H) voch othor across(C) the glabe(0)
Ihe pswar b Asommunicatn) ; o

d. Many(A) nations(8) in e world aee(l) 1ot civilizationed (1))
thi answere 1 DGsivilized) st

4. Many(A) nationals(B) i e world are() not civilized(l)
thi answer s B (nations)

0. The process(A) of praduction(1) in factories operate(C) in o very system(D)
wily
The answer 0 (systomutic)

b The proeess(A) of peoduction(B) in factaries operation(C) in a very
systematic(l)) woy
The answer is [ (operate)

T

1, An entive(A) glob(8) industey(C) con be dominated(D) by o small number of

f ki
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g Gompanies.
The answer is 0 (globo)
1 entive(h) global(B) industeial(©) can be daminated(D) by o small number of

i # i industry)
{(A) the newspaper(B) today? Are(C) there any interesting
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e until(C) you arrive(D) here
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H} kﬂﬂs& A) time magazme noted(B) that paper clothing was ‘hepe
A ~ paper cln(thfng turned out to be a fast fadin fading(D) fad. %
.  The answer is A (although)
.-:"-_ o M Since(A) its poor(B) performance(C). the market place put the picture())
~ phoneon hold.
—*% The answer is A (due to)
. ﬁ There were projections(A) of the sale or lease(B) of a(C) hundred thousands())
_;;,t." -f‘:j phone in five years.
- Theansweris D (thousand)
.. E-Eummerce(h) is(B) become(C) more comman(D).
ﬂw_aﬂswer is B (will)
Lommerce(A) will(B) became(C) more comman(D)

)
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Hgnm didn't really like paper(A) since(B) it was hard to wark with and |
-~ obvious(C) didn't last(D)

The answer is C (obviously)
24 Technology() will(B) cantralling(C) all continents(D)

The answer is C (contral)

24. | really apologize(A) to(B) coming(C) late(D) to class.
The answer is B (for)

26. Da(A) what(B) your mother tells(C) you to doing(D) !
the answer is D (do)

27. Could(A) you please(B) bring(C) this letter(D) to MR. Diego.
The answer is C (send)

~ 28. Would(A) you offer(B) Karolina to lock(C) the doors before she leaves(D)
3 " The answer is B (ask-tell) |
@3 | seriously(A) find it(B) difficult(C) relaxing(D) before the exams.
. The answer is D (to relax) ey 5
| tand(A) ta talk(B) to Carolina. She is sa(C) silly(D)

" ed(B) having(C) a vacation(D).
1'111“8)
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